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B KIETART ny )
SEERUR S t=6cm m?2
- T Hul 0. 390 0. 780 0,780
w | % A Hm EU[BHO. 28m3 m3
T 0. 180 0. 360 0. 360
A HE | W Ml m3
l% Herb m3
T 0. 480 0. 960 0.960
BE T HbR  BHO. 28m3| m3
7% 0. 090 0. 180 0,180
i B R A | B 4tHE m3
AL 0. 030 0. 060 0,060
N B Bk A A [Asik 4tHE m3
T
B Bk B A [Cok  AtFH m3
(FET) 0. 600 1. 200 1 200
BRI EAs  |t=3cm m?2
(LEsET)
i R A M-30 t=22cm m2
" (@) 0. 600 1. 200 1L 200
IH kiR [RM-30 t=17cm m2
T (FewzT)
Wi )79v4=77 |RC-40 t=15cm m2
(FREKET)
Feti)79v4=77 _|RC-40 t=10cm m2
(XEL)
AR EAs  |t=3cm m?2
A (FET) 18-8-40BB
[} 27 Y —|k [t=10cm m2
B (&ET) BUA A
T 5B AT py)[t= 9em (b &) | m2




No. 36
+TH= figk T +THEE L= 1.0 m¥%7=v
+ TiEE 6 HPPE ¢ 75 h =0.600m M]3 As
TREL
T4 ()= 0.600 (1= 1) (S A=)
JREIRM) = 0.790 JRHEIEE (B) = 0.600
[
0. 050 VAR B As 0. 030
BEkAsES: | RigRteA
[ (RM-30) 0. 170
[
U £k
HEM) 0 (h ' BE+
0.790 | 0.600 [ 0. 300
I I | 0.100
[
E) et (EPIN2S
. ©0.090  0.290
[
' 0. 100
PEHIE (B) = 0.600
T i i B = HAr | ¥ &
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
HIAS T, Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 0.790 — 0.050 ) X 1.00 m3 0. 444
WET () 0. 600 X 0.290 — x/4X0.090°2 ) X 1.00 m3 0.168
TR R
(BE+) 0. 600 X 0. 300 X 1. 00 m3 0. 180
sy T 0. 444 — 0. 180 m3 0. 264
HAEBERIEAS
#FET t=3cm 0. 600 X 1.00 m?2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




No. 37

T TFES figg 1T (GEKKEE) +TTHEE L= 1.0 m¥%7Y
+ TiEE 7 HPPE ¢ 75 h =0.600m M]3 As
TREL
T4 ()= 0.600 (1= 1) (S A=)
JREIRM) = 0.740 JRHEIEE (B) = 0.600
|
0. 050 v
i T !
[ 0. 200
[
U £k
HEM) 0 (h ' BE+
0.740 | 0.600 I 0. 300
N I | 0.100
[
E) et (EPIN2S
. ©0.090  0.290
[
' 0. 100
PEHIE (B) = 0.600
T i i 2 = Hi, | % & |
As
SHEERRUIMT T t=bcm
As
@ﬁ%ﬁﬁﬁ&ﬁ'ﬂ: t=5cm
HIHG T Asik
bk IR T 0. 600 X 0. 740 X 1.00 m3 0. 444
WET () ( 0.600 X 0.290 — x/4X0.090°2 ) X 1.00 m3 0.168
TR R
(BE+) 0. 600 X 0. 300 X 1. 00 m3 0. 180
sy T 0. 444 — 0. 180 m3 0. 264
HAEBERIEAS
*FET t=3cm

RIS (RM-30)
BT t=17cm




No. 38
+TH= figk T +THEE L= 1.0 m¥%7=v
+ TiEE 8 HPPE$ 75 h =1.000m M]3 As
TREL
40 ()= 1.000 (1= 1) (S A=)
JERM = 1.190 JRHEIEE (B) = 0.600
[
0. 050 VAR B As 0. 030
BEkAsES: | RigRteA
[ (RM-30) 0. 170
[
U £k
HEM) 0 (h ' BE+
1.190  1.000 [ 0. 700
I I | 0.100
[
E) et (EPIN2S
. ©0.090  0.290
[
' 0. 100
PEHIE (B) = 0.600
T Fii i i = HAL | M B
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
HIAS T, Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 1.190 — 0.050 ) X 1.00 m3 0. 684
WET () 0. 600 X 0.290 — x/4X0.090°2 ) X 1.00 m3 0.168
TR R
(BE+) 0. 600 X 0. 700 X 1. 00 m3 0. 420
sy T 0. 684 — 0. 420 m3 0. 264
HAEBERIEAS
#FET t=3cm 0. 600 X 1.00 m?2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




No. 39

T TFES figg 1T (GEKKEE) +TTHEE L= 1.0 m¥%7Y
+ TiEE 9 HPPE$ 75 h =1.000m M]3 As
TREL
40 ()= 1.000 (1= 1) (S A=)
JREIRM) = 1.140 JRHEIEE (B) = 0.600
|
0. 050 v
i T !
[ 0. 200
[
U £k
HEM) 0 (h ' BE+
1.140 | 1.000 I 0. 700
N I | 0.100
[
E) et (EPIN2S
. ©0.090  0.290
[
' 0. 100
PEHIE (B) = 0.600
T i i 2 = Hi, | % & |
As
SHEERRUIMT T t=bcm
As
@ﬁ%ﬁﬁﬁ&ﬁ'ﬂ: t=5cm
HIHG T Asik
bk IR T 0. 600 X 1. 140 X 1.00 m3 0. 684
WET () ( 0.600 X 0.290 — x/4X0.090°2 ) X 1.00 m3 0.168
TR R
(BE+) 0. 600 X 0. 700 X 1. 00 m3 0. 420
sy T 0. 684 — 0. 420 m3 0. 264
HAEBERIEAS
*FET t=3cm

RIS (RM-30)
BT t=17cm




No. 40
+TH= figk T +THEE L= 1.0 m¥%7=v
+ TiEE 10 HPPE$ 75 h =1.200m M]3 As
TREL
40 ()= 1.200 (1= 1) (S A=)
JREIRM) = 1.390 JRHEIEE (B) = 0.600
[
0. 050 VAR B As 0. 030
BEkAsES: | RigRteA
[ (RM-30) 0. 170
[
U £k
HEM) 0 (h ' BE+
1.390 | 1.200 [ 0. 900
I I | 0.100
[
E) et (EPIN2S
. ©0.090  0.290
[
' 0. 100
PEHIE (B) = 0.600
€L fE i - HAL | M B
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
HIAS T, Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 1.390 — 0.050 ) X 1.00 m3 0. 804
WET () 0. 600 X 0.290 — x/4X0.090°2 ) X 1.00 m3 0.168
TR R
(BE+) 0. 600 X 0. 900 X 1. 00 m3 0. 540
sy T 0. 804 — 0. 540 m3 0. 264
HAEBERIEAS
#FET t=3cm 0. 600 X 1.00 m?2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




No. 41
+TH= figk T +THEE L= 1.0 m¥%7=v
+ TiEE 11 HIVP 6 50 h =0.600m M]3 As
TREL
T4 ()= 0.600 (1= 1) (S A=)
JREIREM) = 0.760 JRHEIEE (B) = 0.600
[
0. 050 VAR B As 0. 030
BEkAsES: | RigRteA
[ (RM-30) 0. 170
[
U £k
HEM) 0 (h ' BE+
0.760 | 0.600 [ 0. 300
I I | 0.100
[
E) et (EPIN2S
. . 0.060  0.260
[
' 0. 100
PEHIE (B) = 0.600
€L fE i - HAL | M B
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
HIAS T, Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 0.760 — 0.050 ) X 1.00 m3 0. 426
WET () 0. 600 X 0.260 — x/4X0.060°2 ) X 1.00 m3 0.153
TR R
(BE+) 0. 600 X 0. 300 X 1. 00 m3 0. 180
sy T 0. 426 — 0. 180 m3 0. 246
HAEBERIEAS
#FET t=3cm 0. 600 X 1.00 m?2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




No. 42
+TH= figk T +THEE L= 1.0 m¥%7=v
+ TiEE 12 HPPE ¢ 30LLF h =0.600m M]3 As
TREL
T4 ()= 0.600 (1= 1) (S A=)
JREIRM) = 0.740 JRHEIEE (B) = 0.600
[
0. 050 VAR B As 0. 030
BEkAsES: | RigRteA
[ (RM-30) 0.170
[
U £k
HEM) 0 (h ' BE+
0.740 | 0.600 [ 0. 300
N I | 0.100
[
E) et (EPIN2S
. ©0.040  0.240
[
' 0. 100
PEHIE (B) = 0.600
T Fii i i = HAL | M B
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
HIAS T, Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 0.740 — 0.050 ) X 1.00 m3 0.414
WET () 0. 600 X 0.240 — x/4X0.040°2 ) X 1.00 m3 0.143
TR R
(BE+) 0. 600 X 0. 300 X 1. 00 m3 0. 180
sy T 0.414 — 0. 180 m3 0.234
HAEBERIEAS
#FET t=3cm 0. 600 X 1.00 m?2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




No. 43

+TH= figk T +THEE L= 1.0 m¥%7=v
+ TiEE 13 HPPE ¢ 30LAF h =1.000m MJ3EAs
TREL
40 ()= 1.000 (1= 1) (S A=)
PREIE M) = 1.140 PRHIE (B) = 0.600
[
0. 050 VAR EEAS 0. 030
BEsRAsEHEE | RigiteA
[ (RM-30) 0.170
[
U £k
PEHIEM) L£H0 (h ' BE+
1.140  1.000 [ 0. 700
B I .~ 0.100
[
E) et BHME
. ©0.040  0.240
[
' 0.100
PEHIE (B) = 0.600
T i E 2 = AR -
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
H IS T.  Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 1.140 — 0.050 ) X 1.00 m3 0. 654
WET () 0. 600 X 0.240 — x/4X0.040°2 ) X 1.00 m3 0.143
TR R
(BE+) 0. 600 X 0. 700 X 1. 00 m3 0. 420
A4 T 0. 654 — 0. 420 m3 0. 234
HAEBERIEAS
EET t=3cm 0. 600 X 1.00 m2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




No. 44

+THE figk =T GEBKSLEET) +TTHEE L= 1.0 m¥M7-0
+ TG E 14 HPPE ¢ 30LAF h =0.600m HJ3EAs
THEL
+40 ()= 0.600 (@111 ) (= )
PEHIEMH) = 0.690 PEHIE (B) = 0.600
0. 050 |
JiE T |
" 0. 200
f
TR e
PEHIEM L£#0 (h) [ BE+
0.690 | 0.600 " 0. 300
O ' ~0.100
! e AR
©0.040  0.240
! 0.100
HEHIIE (B) = 0.600
L G S e R
As
SHEERROGIKT T t=bcm
As
ERSERRARRE T t=5cm
HF Sy T Asik
F AR S I T 0. 600 0. 690 X 1.00 m3 0.414
HWERET () (0.600 0.240 — w/4X0.040°2 ) X 1. 00 m3 0.143
R T
(RE 1) 0. 600 0. 300 X 1.00 m3 0.180
Ay T 0.414 — 0. 180 m3 0.234
BRI EAs
FE T t=3cm
R (RM-30)
b g T t=17cm

No. 45



+THE figk =T GEBKSLEET) +TTHEE L= 1.0 m¥M7-0
+ TG E 15 HPPE ¢ 30LAF h =1.000m HJ3EAs
THEL
+H80 ()= 1.000 (@111 ) (= )
PEHIEMH) = 1.090 PEHIE (B) = 0.600
0. 050 |
JiE T |
' 0. 200
f
TR e
MEIEM) g0 (h) [ BRE L
1.090 | 1.000 " 0. 700
O ' ~0.100
| P A
©0.040  0.240
! 0.100
HEHIIE (B) = 0.600
L G S e R
As
SHEERROGIKT T t=bcm
As
ERSERRARRE T t=5cm
HF Sy T Asik
F AR S I T 0. 600 X 1. 090 X 1.00 m3 0. 654
HWERET () ( 0.600 X 0.240 — x/4X0.040°2 ) X 1. 00 m3 0.143
R T
(RE 1) 0. 600 X 0. 700 X 1.00 m3 0. 420
Ay T 0. 654 — 0. 420 m3 0.234
BRI EAs
FE T t=3cm

B (RM-30)
T t=17cm




No. 46
T TFES T T THERE N= 1 EATH 720
+THAEE RETO h =1.000m MT3EAs
40 ()= 1.000 (1= 1) (S A=)
PEHE (H1) = 0.700 PEHIE (B) = 0.600
PEHIZE (H2) = 0.300
[
0. 050 VAR B As 0. 030
Wi T BEsRAsEHEE | RigiteA
[ (RM-30) 0.170
P (H1) '
0.700 | B
U £k
40 (h ' BE+
1000 | 0. 800
[
PRHIZ (H2) [
0. 300 PNAE |
i
PEHIE (B) = 0.600
T i i 2 = Hi, | % & |
As
EEREIKT T t=bcm 1.00 X 2 m 2.000
As
SHEESRARFE T t=5cm 0. 600 X 1.00 m2 0. 600
HIAS T, Asik 0. 600 X 0. 050 X 1.00 m3 0. 030
bk IR T 0. 600 X ( 0.700 — 0.050 ) X 1.00 m3 0. 390
AN #EA T 0. 600 X 0. 300 X 1. 00 m3 0.180
TR R
(BE+) 0. 600 X 0. 800 X 1. 00 m3 0. 480
sy T 0. 390 + 0. 180 ) — 0. 480 m3 0. 090
HAEBERIEAS
#FET t=3cm 0. 600 X 1.00 m?2 0. 600
RIS (RM-30)
BT t=17cm 0. 600 X 1. 00 m2 0. 600




